

+ **÷** **1** **-** **=** **×** **9**

×

$3 \times 4 + 8 =$

$21 : 3 + 40 =$

÷

=

$5 \times 10 - 13 =$

$70 : 7 - 3 =$

=

$7 \times 2 + 27 =$

$24 : 4 + 42 =$

4

×

$6 \times 3 + 15 =$

$5 - 50 : 10 =$

+

+

$10 \times 7 - 24 =$

$21 + 27 : 3 =$

6

$3 \times 9 + 13 =$

$24 - 18 : 2 =$

×

÷

$25 + 2 \times 6 =$

$18 + 21 : 3 =$

÷

$53 + 4 \times 3 =$

$23 + 27 : 3 =$

+

$79 - 6 \times 3 =$

$65 - 18 : 2 =$

-

$29 - 7 \times 3 =$

$71 - 18 : 3 =$

3

8

=

+

7

÷

×

2

Töölehe koostas: Inga Kütt